INSTALLING THE PUNCH

UNIT

For installation on the saddle finisher for copiers with a copy speed of 25/35 copies per minute

INSTALLATION DE LUNITE DE PERFORATION

Pour l'installation sur le retoucheur du chariot pour copieurs avec une vitesse de 25/35 copies a la minute

INSTALACION DE LA UNIDAD PERFORADORA

Para instalar en el finalizador de la placa en copiadoras con una velocidad de copiado de 25/35 copias por minuto

INSTALLIEREN DER LOCHEREINHEIT

Zur Installation am Sattelfixierer fiir Kopierer mit einer Kopiergeschwindigkeit von 25/35 Kopien pro Minute

INSTALLAZIONE DELL'UNITA DI PERFORAZIONE

Per installazione sulla finitrice della slitta per copiatrici con velocita di copiatura di 25/35 copie al minuto

FILRERERFF

LT S BV B O 25/355K 2 S ENATL B Eh TR B

INF =y MEU=

IR

BEREN25 35KERY MILT « Zv Y v —[CRD T 25E




Supplied parts
B PUNCH UNIt oo 1
Relay cable (0range) .........ccocovueueererereneenns 1

(© Relay cable (PUIPIE) «.eecveeevrerererirererieeeenee 1
© Crown washer screw M4 X 6 ............ccceeuene 1
(B) SPONGE et seeenes 1
B Caution 1abel ........ccceeeerirereeeereeeeene 1

Piéces fournies

® Unité de perforation .............ccceeevrvrireeennnnne 1
Cable relais (0range) ..........ccceeveveveverernnnnnn. 1
(© Céble relais (MauVe) ......ccovevveeeeererieeeerenens 1
) Vis arondelle en couronne M4 x 6 ............ 1
B EPONGE .o 1
(® Etiquette de précautions .............cc.cc.eve.... 1

Partes suministradas

® Unidad perforadora ...........cocoeeervrvreerennnnns 1
Cable relé (anaranjado) .

(© Cable relé (PUrpUra) ....coceveeeeeeeererieeeeeeeens
© Tornillo de arandela alamenada M4 x 6 ..... 1
® Esponja ......ccccevevrerenns 1

(F) Etiqueta de precaucién

Gelieferte Teile

® Lochereinheit ........c.ccueueueeeerenernnesceeenes 1
Relaykabel (orange-farben) ... 1
(© Relaykabel (lila-farben) .........c.cocovreeereenee 1
(© Zahnscheibenschraube M4 x 6 .................. 1
® Schwamm .......cocoeeererrnrenenens

® Warnaufkleber

Parti fornite

® Unita di perforazione ...........c.coceeeeereeceeennnes 1
Cavo del relé (arancione) .........cccceeeveeeenee. 1
(© Cavo del relé (viola) ......ccceererrererereneeecnns 1
(© Vite con rondella a corona M4 x 6 ............. 1
(B) SPUGNA -t 1
(® Etichetta di richiamo ..........cccecevreriririeennne 1

M B

(OEZ{E'-5 S
PR (B ).,
© k(). ...
DM4 x 6 B [ 45185T
Gl T R ———
ETETTAREE wovvveemeneen

fIEm

@®ICVFIITY D s 1
® iR (18 ..
© kR (5
O MAXBETEEREX ..
®RARYY s .
EFEBT NIV e 1




J

Procedure 1. Disconnect the finisher signal cable from the 2. Open the front panel (3. While squeezing
Be sure to turn the copier main switch off and copier. the claws (2, remove the paper jam release
disconnect the copier power plug from the wall knob (3.

outlet before starting to install the Punch Unit. 3. Remove the two screws (4.

Procédure 1. Débrancher le cable d'interconnexion du 2. Ouvrir le panneau avant (. Tout en serrant
Veiller & bien mettre l'interrupteur principal du retoucheur du copieur. les pinces (2), retirer le bouton d'éjection du
copieur hors tension et a débrancher la fiche bou_rrage papier @

d’alimentation du copieur de la prise murale avant 3. Retirer les deux vis (@.

de commencer linstallation de l'unité de

perforation.

Procedimiento 1. Desconecte el cable de senal del finalizador 2. Abra el panel frontal (¥). Mientras aprieta los
Aseglrese de apagar el interruptor principal de la copiadora. ganchos (2), quite la perilla de liberacién de
de la copiadora y de desconectar la clavija de atasco de papel @

alimentacion de la copiadora de la toma de 3. Quite los dos tornillos (.

corriente de la pared, antes de empezar a

instalar la unidad perforadora.

Vorgang 1. Ziehen Sie das Fixierer-Signalkabel aus 2. Offnen Sie die vordere Wand (D). Driicken
Schalten Sie vor der Installation der dem Kopierer. Sie die Klauen (2) zusammen, und
Lochereinheit unbedingt den Kopierer am entfernen Sie den Papierstau-Lésehebel (3.
Hauptschalter aus, und ziehen Sie den 3. Entfernen Sie die zwei Schrauben (@).
Netzstecker aus der Wandsteckdose.

Procedura 1. Scollegare il cavo del segnale della finitrice 2. Aprire la copertura anteriore (1). Premendo
Prima di dare inizio alla procedura dalla copiatrice. nel contempo le griffe (), rimuovere la
d'installazione dell’unita di perforazione, non manopola di rilascio dellinceppamento della
mancare di spegnere la copiatrice usando carta ®. .

linterruttore principale di alimentazione e 3. Rimuovere le due viti (®.

disinserire la spina del cavo di alimentazione

dalla presa a muro della rete elettrica.

4] 1MITRSR B S RNE L EEF, 2 6101 @O TH)E, BEFIR @ KR4
LA AL R E N, AT e S ENAL AR Ef @ HT,
Eﬁ%ﬁ#%ﬁﬂﬂi%%%ﬁﬁ%&ﬁ@tﬁ 3 f PR NBET @ T

[ER{HFIE] 1. 74 Z v v —DESHRZEESHARD S 2.8 87 @ ZRlS, M@ ZDFHED 5
JNYFAZw MEBRDAIIBEE. HEsH AR DY v LRI A I @ Z5 T
AEDAA Y 2A v FEOFFICL, BEHAS 3. EX @ 2%7=5 T,

DBRISITZN U THEERZB TS &,




4. Remove the three screws (5) securing the
front cover (6) and then the cover.

\- J

- J

5. Remove the two screws (8) securing the
rear cover (7) on the paper feed side of the
finisher.

6. Remove the screw (9) securing the rear
cover (7) on the paper ejection side of the
finisher and then remove the rear cover (@).

4. Retirer les trois vis (§) fixant le couvercle
avant (6) puis retirer le couvercle.

5. Retirer les deux vis (8 fixant le couvercle
arriere (7) sur le coté alimentation papier du
retoucheur.

6. Retirer la vis (9) fixant le couvercle arriére
@ sur le coté éjection papier du retoucheur
puis retirer le couvercle arriére (?).

4. Quite los tres tornillos (5) que aseguran la
cubierta frontal () y luego la cubierta.

5. Quite los dos tornillos (8) que aseguran la
cubierta posterior (7) del lado de
alimentacion de papel del finalizador.

6. Quite el tornillo (9 que asegura la cubierta
posterior (7) del lado de expulsién de papel
del finalizador y luego quite la cubierta
posterior (@).

4. Entfernen Sie die drei Schrauben (5), die die
vordere Abdeckung (&) befestigen und dann
die Abdeckung.

5. Entfernen Sie die zwei Schrauben (8), die
die hintere Abdeckung () auf der
Papiereinzugsseite des Fixierers befestigen.

6. Entfernen Sie die Schraube (9), die die
hintere Abdeckung (7) auf der
Papierauswurfseite des Fixierers befestigt,
und entfernen Sie dann die hintere
Abdeckung (@).

4. Rimuovere le tre viti () che fissano il
pannello anteriore (¢) e quindi il pannello.

5. Rimuovere le due viti (8) che fissano il
pannello posteriore (7) sul lato di
alimentazione della carta della finitrice.

6. Rimuovere la vite (9) che fissa il pannello
posteriore (7) sul lato di espulsione della
carta della finitrice, quindi rimuovere il
pannello posteriore (@).

4. ¥ =HU/NEST ® W T e KT @ HT.

5. K5 € Ja B @ BT RN B LRI 2 A/ NME
T @WT.

6. KrH B2 J5 B @ BT R B AR 2 — B
BE @M TR ERR @ HT.

4.ER ® 3FZHNL. BTHI— @ ZNT.

5. %0/\—@ZEELTCWVWS T4 vy v—
BIRBIDER @ 28 %N,

6. 2NWN\—@ZBEELTVWS T4 2wy v—
%ﬁﬁgj@lﬁ‘x @ 1&ZH L. BHI\—@




7. Remove the two screws (3 securing the
upper right cover unit @9 at the front of the
finisher.

- J

- J

8. Remove the two screws (2 securing the
upper right cover unit Q0 at the rear of the
finisher and then remove the upper right

cover unit G0.

9. Unhook the claw (4 of the upper right cover
@3 and remove the cover from the upper
right cover unit G0.

7. Retirer les deux vis @ fixant I'unité de
couvercle supérieur droit @9 a I'avant du
retoucheur.

8. Retirer les deux vis (2 fixant I'unité de
couvercle supérieur droit 40 a I'arriére du
retoucheur puis retirer 'unité de couvercle
supérieur droit 9.

9. Décrocher la pince 14 du couvercle
supérieur droit 3 et retirer le couvercle de
I'unité de couvercle supérieur droit 49.

7. Quite los dos tornillos @) que aseguran la
unidad de la cubierta superior derecha
en el frente del finalizador.

8. Quite los dos tornillos (2 que aseguran la
unidad de la cubierta superior derecha
en la parte posterior del finalizador y luego
quite la unidad de la cubierta superior

derecha 9.

9. Desenganche el gancho (4 de la cubierta
superior derecha (3 y quite la cubierta de la
unidad de la cubierta superior derecha (9.

7. Entfernen Sie die zwei Schrauben (3, die
die obere rechte Abdeckungseinheit @0 an
der Vorderseite des Fixierers befestigen.

8. Entfernen Sie die zwei Schrauben (2, die
die obere rechte Abdeckungseinheit @9 an
der Riickseite des Fixierers befestigen, und
entfernen Sie dann die obere rechte
Abdeckungseinheit 0.

9. Haken Sie die Klaue (4 von der oberen
rechten Abdeckung (3 aus, und entfernen
Sie die Abdeckung von der oberen rechten
Abdeckungseinheit 0.

7. Rimuovere le due viti @) che fissano I'unita
del pannello superiore destro (0 sul lato
anteriore della finitrice.

8. Rimuovere le due viti G2 che fissano I'unita
del pannello superiore destro 0 sul lato
posteriore della finitrice, quindi rimuovere
I'unita del pannello superiore destro (0.

9. Sganciare la griffa @4 del pannello superiore
destro (3, quindi rimuovere il pannello
dall'unita del pannello superiore destro G0.

7. B E A B QO MY VT e B AT 2 P/
BEIQD T

8. K E A SR @0 K917 %% B G | 2 WA/
BRET Q2 JE MG EEER @ HIF.

9. ¥4 BT @ MM @ EAMTTTE M B
BT QMG LEI@ HT.

7.H8ENDN—EB @ ZEELTVS T 4 =
Yy — BflOEX @ 2482549,

8. LN\ ZEEL TSI 4=
Vv — BAIDER @ 287N L. BLED
JA—EB @ ZE DT,

9. 5 EH)\— @ DM 3 ZSMAIICEITF. AL
HIN— @ ZHLH/I—EB @ ' SH T,




10.

Hook the claw (9 of the upper right cover (3
on the square hole in the punch unit (& and
then fit the upper right cover @3 to the punch
unit ®.

J

11. Align the end face of the sponge (E) with the frame cover @9 of the finisher and attach it.
Attach it near the bottom side.

10.

Accrocher la pince (4 du couvercle
supérieur droit @3 sur l'orifice carré de 'unité
de perforation (®) puis fixer le couvercle
supérieur droit @3 a I'unité de perforation (®.

11. Aligner la face d'extrémité de I'éponge (E) sur le couvercle du cadre G5 du retoucheur, et la fixer.
La fixer pres du coté inférieur.

10.

Enganche el gancho (9 de la cubierta
superior derecha (3 en el agujero cuadrado
de la unidad perforadora ® y luego coloque
la cubierta superior derecha (3 en la unidad
perforadora ®.

11. Alinee la cara de punta de la esponja (E) con la cubierta de armazén @9 del finalizador e instale.
Instale cerca del lado inferior.

10.

Haken Sie die Klaue (@4 von der oberen
rechten Abdeckung (3 in das quadratische
Loch in der Lochereinheit & ein, und
bringen Sie dann die obere rechte
Abdeckung (3 an die Lochereinheit & an.

11. Richten Sie die Endflache des Schwamms (E) auf die Rahmenabdeckung (5 des Fixierers aus,
und bringen Sie den Schwamm an.
Bringen Sie ihn nahe der Unterseite an.

10.

Agganciare la griffa @4 del pannello
superiore destro (3 sul foro quadrato
nell'unita di perforazione ®), quindi inserire
il pannello superiore destro G3 nell'unita di
perforazione (®.

11. Allineate I'estremita della spugna (E) con il coperchio del telaio G5 della finitrice, e quindi
fissatela in corrispondenza del lato inferiore.

10.

A LET @ MIT@EEIFKE ® /1
ﬁﬁﬁi‘LJﬁ,%’rEtE? @ ERTFAKE ®

KR HE LR i 1%V 1155 T (1 L FH GBI PR,
X EE TR G,

105 EH—@ DM@ 7Z/\yF1=v

® OAERISSIoHENT. BED/I— @ Z/X
VFAZv b ® ICEDOMITSD.

NI4T r—DIU—LA— @ ISR Y © OREESDE. BDET5.
K TSUICEED T E.




\- J

12. Fit the punch unit &) to the paper feed section of the finisher by hooking the latch G? of the
punch unit &) on the punch base cover 9 and inserting the positioning pin @9 of the unit into
the finisher.

13. Secure the upper right cover @3 to the
finisher using the white M4 x 6 screws @3

12. Fixer I'unité de perforation (® a la section d’alimentation papier du retoucheur en accrochant le
loquet @) de I'unité de perforation (&) sur le couvercle de la base de perforation (6 et en
insérant I'aiguille de positionnement (8 de I'unité dans le retoucheur.

13. Fixer le couvercle supérieur droit 43 au
retoucheur a I'aide des vis blanches M4 x 6

@@

12. Coloque la unidad perforadora (& en la seccién de alimentacion de papel del finalizador al
enganchar el seguro (7 de la unidad perforadora &) en la cubierta de la base de la perforadora
e insertar la clavija de posicionamiento (9 de la unidad en el finalizador.

13. Asegure la cubierta superior derecha (3 en
el finalizador usando los tornillos blancos

M4 x 6 @D 2.

12. Bringen Sie die Lochereinheit & an den Papiereinzugsabschnitt des Fixierers an, indem Sie
den Vorsprung (2 der Lochereinheit ®) in die Locherbasis-Abdeckung (6 einhaken. Setzen Sie
dann den Positionierstift @8 der Einheit in den Fixierer ein.

13. Bringen Sie die obere rechte Abdeckung (3
mittels der weissen M4 x 6 Schrauben G9)
@12 am Fixierer an.

12. Inserire I'unita di perforazione (& nella sezione di alimentazione della carta della finitrice
agganciando il dispositivo di chiusura (7 dell’'unita di perforazione &) sul pannello della base di
perforazione @9 e inserendo il perno di posizionamento (9 dell’unita nella finitrice.

13. Fissare il pannello superiore destro 3 alla
finitrice utilizzando le viti bianche M4 x 6 @)

12. ﬁﬁé%’@ @ R FAEEE (@ LJFKEMM (@ MAFKFARE @ 2T ITHER E M A4EEE

13, HI/MEST @ 2 (EM4x6) ¥A L8 @
B TITHEE L,

12, )SUFAR=2ANN— @ [TV T @ Z5| o8NS, UBERSHEY @@ ZHA L. /{UFAZw b
®ZET 1 2y v —DiaiEcEY D,

1B —@ECZ D ® (FIMAXE)
TIA vy v—ICEES Be




/

14. Secure the punch unit ®) to the finisher using the two gold M4 x 6 screws (1) (2 and the M4 x 6
crown washer screw ©.

15.

Connect the orange relay cable (B) and
purple relay cable (© to J1004 and J1003
on the punch driver PCB (9, respectively.

14. Fixer I'unité de perforation & au retoucheur a l'aide des deux vis dorées M4 x 6 G9) G2 et de la
vis a rondelle en couronne M4 x 6 (D).

15.

Connecter les cables de relais orange (B) et
mauve (© a J1004 et J1003 sur la carte de
circuit imprimé du pilote du perforateur 49,
respectivement.

14. Asegure la unidad perforadora (& en el finalizador utilizando los dos tornillos de oro M4 x 6 @)
@ vy el tornillo de M4 x 6 arandela alamenada (D).

15.

Conecte el cable relé anaranjado (B y el
cable relé purpura (© en el J1004 y el
J1003 del PCB controlador de la
perforadora (9, respectivamente.

14. Befestigen Sie die Lochereinheit (& mit den zwei goldenen Schrauben M4 x 6 (1) 42 und der
Zahnscheibenschraube M4 x 6 (©) am Fixierer.

15.

Schliessen Sie das orange-farbene
Relaykabel () und lila-farbene Relaykabel
© an jeweils J1004 und J1003 auf der
Lochertreiber-Leiterkarte @9 an.

14. Assicurate la punzonatrice (® alla finitrice usando le due viti dorate M4 x 6 @3 G2 e la vite con
rondella a corona M4 x 6 (©).

15.

Collegare il cavo del relé arancione ®) e il
cavo del relé viola (© a J1004 e J1003 sulla
basetta di guida della perforazione (9,
rispettivamente.

14. P S/MRETOD @ (& (M4 6) i — M4 x 615 T 45 IR TOH 5 LA E @R & T 5 E L.

15.

kLR () B) 142 B ZF LUK B LR AR
HYT1004, 3745 kL (S (1) © EHEFIF ALK
ShH AR @9 AYI1003.

14.)0YF 1=y R @ EEZ @@ (EMAXB) 2AEMAXBENESEZ @ 1ATT 4 2w
P —ICEET B

15.

PR (18) ® Z/\UF RS ) (ERER
DJ1004(c, Ffkr (%) © =/ \UF
b5 (EIEEER (9 DJ1003(CizK T

o




J

. Connect the other ends of the orange relay

cable () and purple relay cable (©) to CN14
and CN12 on the finisher controller PCB @0,
respectively.

17. Route the orange relay cable (B) and purple

relay cable (©) through the cable retainers
@) and cable guides @2.

18.

Refit the front cover (8), paper jam release
knob (3 and rear cover (7).

16.

Connecter les autres extrémités des cables
de relais orange (B et mauve (©) a CN14 et
CN12 sur la carte de circuit imprimé du
contréleur du retoucheur €9,
respectivement.

17. Faire passer les cables de relais orange

et mauve (C) dans les arrétoirs ¢J) et les
guides @2.

18.

Refixer le couvercle avant (6), le bouton
d’éjection du bourrage papier 3 et le
couvercle arriére (7).

16.

Conecte los otros extremos del cable relé
anaranjado ®) y el cable relé purpura © en
el CN14 y el CN12 del PCB controlador del
finalizador @9, respectivamente.

17. Introduzca el cable relé anaranjado ®) vy el

cable relé purpura (©) a través de los
retenedores de cables @) y las guias de
cables 2.

18.

Vuelva a colocar la cubierta frontal (6), la
perilla de liberacion de atasco de papel (3 y
la cubierta posterior ().

16.

Schliessen Sie die anderen Enden des
orange-farbenen Relaykabels (B) und lila-
farbenen Relaykabels (© an jeweils CN14
und CN12 auf der Fixierer-Steuerleiterkarte

@9 an.

17. Legen Sie das orange-farbene Relaykabel

und lila-farbene Relaykabel (©) durch die

Kabelhalter @) und Kabelflihrungen 2.

18.

Bringen Sie die vordere Abdeckung (6), den
Papierstau-Lésehebel (3) und die hintere
Abdeckung (7) wieder an.

16.

Collegare le altre estremita del cavo del relé
arancione (8) e del cavo del relé viola ©) a
CN14 e CN12 sulla basetta dell’'unita di
controllo della finitrice @9, rispettivamente.

17. Far passare il cavo del rele arancione (B) e il

cavo del relé viola (©) attraverso i fermi dei
cavi @) e le guide dei cavi @2.

18.

Inserire nuovamente il pannello anteriore
(®), la manopola di rilascio
dell'inceppamento della carta 3 e il
pannello posteriore @).

16.

K gk ) @) i HEFTTHRE B 417 B
R @0 MICNI14 I rpAkLR () © EHEENT
PHE ISR @0 AICNIL,

17. P4 E) @ ML f) © FiI R

HIBI @) BRI @ J5, I AAL B,

18.

TAHTE @, MRRRER @ &E @ .

16.

iR (18) @7« —vvy—1a2 bk
O—SEE8EMNR @ (OCN 14T, HhikiR

(&) ©@Z7J7«Zv¥yvy—1dr hO—3H
FEEAMR @ OCN1 2[R T D,

17. PR (18) @ SHHR (R) © ZRIR
BEX @ BRUHRIRAA N 6 [SBL T

#HI D,

18.

HAN— @ DY+ LB S A V)L
® BLUEN/N— @ ZBDONF S,




|
.

O 0 %

19. Paste the caution label (F) to the recess @3
of the puncher cover.

20. Join the finisher to the copier and connect

Operation check
the finisher signal cable to the copier.

Make test copies to check that the punch unit
operates correctly.

19. Coller I'étiquette de précautions (F) sur 20. Relier le retoucheur au copieur et connecter
I'enfoncement @ du couvercle de I'unité de le cable d’interconnexion du retoucheur au

Vérification du fonctionnement
Effectuer des copies test pour vérifier le bon

perforation. copieur. fonctionnement de I'unité de perforation.
19. Pegue la etiqueta de precaucion (F) en la 20. Una el finalizador a la copiadora y conecte Pruebas de Funcionamiento
entrada @3 de la cubierta perforadora. el cable de senal del finalizador en la Realice copias de prueba a fin de comprobar
copiadora. que la unidad perforadora funciona
correctamente.
19. Kleben Sie den Warnaufkleber (®) in die 20. Bringen Sie den Fixierer am Kopierer an Betriebspriifung

Vertiefung @3 der Locherabdeckung.

und schliessen Sie das Fixierer-Signalkabel
am Kopierer an.

Prifen Sie mit einem Testkopien-Lauf, ob die
Lochereinheit ordnungsgemaB funktioniert.

19. Incollate I'etichetta di richiamo () alla
rientranza @3 del coperchio della
punzonatrice.

. Unire la finitrice alla copiatrice e collegare il

cavo del segnale della finitrice alla
copiatrice.

Controllo del funzionamento
Eseguire copie di prova per controllare che
I'unita di perforazione funzioni correttamente.

19 TE AR @RS I 15 R AU LT (1140 @,

REIT RN R BT R EIHL AR PR IT R B

75 IR B R BT .

[HINIE(E]
BRI F AL RS IE W iafE.

19. 525N @ 2\ F v I—DLIFH
B @ [CRED [T

DA 2y Y v —EESHAR(OERE U,

T4 2wy v —DIESIREESHAEICHE
ftd Do

(EnFiEss

TARIE—ZEHHLEOT, INVFIZy Y

EB(ICEET DD HERT Do




2001.5
5FG80021B



